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<P>PV0000000, V009 99099V \</p> <P>0P 90000 9000000000 9000 0000
<strong><span style="color: #ff0000;">FUJITSU</span></strong><span style="color:
#ff0000;"> </span><span style="color: #ff0000;"><span style="color: #000000;">%
Q000090009000 0900000000009000 999</span></span></p> <p><span style="color:
#ff0000;"><span style="color: #000000;">@®® e <span style="color:
#ff0000;"><strong>FUJITSU </strong><span style="color: #000000;">¢ 00000 060¢
12722272728 °2°2°2-2°272-8°2°2°2-2°2°2-2° 827222722 8°2°2-2°2°2.2°2°2:2-2°2722°2 R R2°2°22°2°%
Q0000900 9000000000000000 900 9090. 0000 06009 621.03.2014 € 18.04.2014
D 90009000900 900000009 90090069 9<span style="color:
#ff0000;"><strong>FUJITSU</strong> <span style="color: #000000;">0 ¢ ¢ 90696609640
%, @ 0009 90000009087 & 9009 00 900 99000 9000000000 0000 ¢
Q00900009 9900009 909 .</span></span></span></span></span></span></p>
<p><span style="color: #ff0000;"><span style="color: #000000;"><span style="color:
#ff0000;"><span style="color: #000000;"><span style="color: #ff0000;"><span style="color:
#000000;"> </span></span></span></span></span></span></p> <p><span style="color:
#ff0000;"><span style="color: #000000;"><span style="color: #ff0000;"><span style="color:
#000000;"><span style="color: #f0000;"><span style="color: #000000;">0 00000060 o
900000000000 0000099 <a href="products.html?page=shop.browse&category_id=23"
target="_blank">¢@/a>. 0 0000 00009, 900G PV 0000 6000600 ¢

999900900099 </span></span></span></span></span></span></p> <p><span style="color:
#ff0000;"><span style="color: #000000;"><span style="color: #f0000;"><span style="color:
#000000;"><span style="color: #ff0000;"><span style="color: #000000;"><img
src="components/com_virtuemart/shop_image/product/ASYGO9LTCA.jpg" alt="Fujitsu"
/></span></span></span></span></span></span></p> <p><span style="color:
#ff0000;"><span style="color: #000000;"><span style="color: #f0000;"><span style="color:
#000000;"><span style="color: #ff0000;"><span style="color: #000000;">¢ ¢ ¢ 00 ¢0¢
QO909009099</span></span></span></span></span></span></p> <table
style="border-collapse: collapse; width: 942px;" border="0" cellspacing="0" cellpadding="0">
<tr style="mso-height-source: userset; height: 29.25pt;"> <td class="xI80" style="border-bottom:
.5pt solid black; height: 45.0pt; width: 23pt;" width="30" height="60">®</td> <td class="xI82"
style="width: 186pt;" width="248">¢ @@ ®®e</id> <td class="xI82" style="width: 45pt;"
width="60">@®e</td> <td class="xI83" style="width: 254pt;" width="338">@®&@e</td> <td
class="xI84" style="width: 116pt;" width="154">0 00009066 ¢, ¥éspan
style="mso-spacerun: yes;"> </span>(®9@9eé</td> <td class="xI85" style="width: 84pt;"
width="112">@ @ ® e @<span style="mso-spacerun: yes;"> </span>®e,$</td> </tr> <tr
style="mso-height-source: userset; height: 18.75pt;"> <td class="xI87" style="height: 18.75pt;
border-top: none;" height="25">2</td> <td class="xI72" style="border-top: none; border-left:
none; width: 186pt;" width="248">ASYA12LGC/AOYR12LGC</td> <td class="xI73"
style="border-top: none; border-left: none; width: 45pt;" width="60">4</td> <td class="xI73"
style="border-left: none; width: 254pt;" width="338">0¢ -0 006906096 ®oé<span
style="mso-spacerun: yes;"> </span></td> <td class="x|74" style="border-top: none;
border-left: none; width: 116pt;" width="154">3.4 / 4.0</td> <td class="xI75" style="border-top:
none; border-left: none; width: 84pt;" width="112">1 473<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 18.75pt;"> <td class="xI87"
style="height: 18.75pt; border-top: none;" height="25">3</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;"
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width="248">ASYGO7LECA/AOYGO7LEC</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">2</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 0 ¢ ¢ & 000966 e 66 éStandart Inverter<span
style="mso-spacerun: yes;"> </span></td> <td class="xI76" style="border-top: none;
border-left: none; width: 116pt;" width="154">2.1 / 3.0</td> <td class="xI77" style="border-top:
none; border-left: none; width: 84pt;" width="112">1 325<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 18.75pt;"> <td class="xI87"
style="height: 18.75pt; border-top: none;" height="25">4</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYG12LECA/AOYG12LEC</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">4</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 006 & #6666 e 66 éStandart Inverter<span
style="mso-spacerun: yes;"> </span></td> <td class="xI76" style="border-top: none;
border-left: none; width: 116pt;" width="154">3.4 / 4.0</td> <td class="xI77" style="border-top:
none; border-left: none; width: 84pt;" width="112">1 525<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 18.75pt;"> <td class="xI87"
style="height: 18.75pt; border-top: none;" height="25">5</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYGO09LMCA/AOYGO9LMCA</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">2</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 00 ¢ & 00066 e 66 éStandart Inverter<span
style="mso-spacerun: yes;"> </span></td> <td class="xI76" style="border-top: none;
border-left: none; width: 116pt;" width="154">2.5/ 3.2</td> <td class="xI77" style="border-top:
none; border-left: none; width: 84pt;" width="112">1 365<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 18.75pt;"> <td class="xI71"
style="height: 18.75pt; border-top: none;" height="25">6</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYG14LMCA/AOYG14LMCA</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">3</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 006 & #6666 V66 éStandart Inverter<span
style="mso-spacerun: yes;"> </span></td> <td class="x|76" style="border-top: none;
border-left: none; width: 116pt;" width="154">4.0 / 5.0</td> <td class="xI77" style="border-top:
none; border-left: none; width: 84pt;" width="112">1 800<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 18.75pt;"> <td class="xI71"
style="height: 18.75pt; border-top: none;" height="25">7</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYG18LFCA/AOYG18LFC</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">1</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 00 ¢ & 060066 &6 éStandart Inverter<span
style="mso-spacerun: yes;"> </span></td> <td class="xI76" style="border-top: none;
border-left: none; width: 116pt;" width="154">5.2 / 6.3</td> <td class="xI77" style="border-top:
none; border-left: none; width: 84pt;" width="112">2 500<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 18.75pt;"> <td class="xI71"
style="height: 18.75pt; border-top: none;" height="25">8</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYG24LFCC/AOYG24LFCC</td> <td class="xI73" style="border-top: none;

2/6



000 Fujitsu: 000 40% 0 000000000O0OO0OOCOD OO 8,7!

AsTop: Administrator
21.03.2014 16:11 - O6HoBneHo 26.03.2014 13:28

border-left: none; width: 45pt;" width="60">2</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 006 & #6666 e 66 éStandart Inverter<span
style="mso-spacerun: yes;"> </span></td> <td class="xI76" style="border-top: none;
border-left: none; width: 116pt;" width="154">7.1 / 8.0</td> <td class="xI77" style="border-top:
none; border-left: none; width: 84pt;" width="112">3 000<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 30.75pt;"> <td class="xI87"
style="height: 30.75pt; border-top: none;" height="41">9</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYG07LUCA/AOYGO07LUC</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">1</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 006 ¢ 0060060966 Slide Inverter (00 Y &
90000 -200 9000 9090, V00</td> <td class="xI76" style="border-top: none; border-left:
none; width: 116pt;" width="154">2.0 / 3.0</td> <td class="xI77" style="border-top: none;
border-left: none; width: 84pt;" width="112">1 710<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 30.75pt;"> <td class="xI87"
style="height: 30.75pt; border-top: none;" height="41">10</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYGO09LUCA/AOYGO09LUC</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">3</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 006 ¢ 0060660966 Slide Inverter (00 Y &
00009 -200 000 909, VO9</td> <td class="xI76" style="border-top: none; border-left:
none; width: 116pt;" width="154">2.5 / 3.2</td> <td class="xI77" style="border-top: none;
border-left: none; width: 84pt;" width="112">1 805<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="height: 45.0pt;"> <td class="xI71" style="height: 45.0pt;
border-top: none;" height="60">12</td> <td class="xI72" style="border-top: none; border-left:
none; width: 186pt;" width="248">ASYG14LUCA/AOYG14LUC</td> <td class="xI73"
style="border-top: none; border-left: none; width: 45pt;" width="60">1</td> <td class="xI76"
style="border-top: none; border-left: none; width: 254pt;" width="338">¢ ¢ ¢ 6 ¢
90000006000Slide Inverter (000 @ 906009 -200 000 €090, 9600</td> <id
class="xI76" style="border-top: none; border-left: none; width: 116pt;" width="154">4.2 /
5.4</td> <td class="xI77" style="border-top: none; border-left: none; width: 84pt;"
width="112">2 270<span style="mso-spacerun: yes;"> </span></td> </tr> <tr style="height:
45.0pt;"> <td class="xI87" style="height: 45.0pt; border-top: none;" height="60">13</td> <td
class="xI72" style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYGO9LTCA/AOYGO9LTC</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">1</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 006 ¢ 0600666 éDeluxe Slide Inverter
(000 & 00000 -200 000 009, 000 900009 00090</td> <id class="xI76"
style="border-top: none; border-left: none; width: 116pt;" width="154">2.5 / 3.2</td> <td
class="xI77" style="border-top: none; border-left: none; width: 84pt;" width="112">2 095<span
style="mso-spacerun: yes;"> </span></td> </tr> <tr style="mso-height-source: userset; height:
30.0pt;"> <td class="xI87" style="height: 30.0pt; border-top: none;" height="40">14</td> <td
class="xI72" style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYG12LTCA/AOYG12LTC</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">1</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 000 ¢ €06 0606 e6éDecluxe Slide Inverter
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(000 & 900009 -200, 000 009, 000 90009 06009</t1d> <id class="xI76"
style="border-top: none; border-left: none; width: 116pt;" width="154">3.5 / 4.0</td> <td
class="xI77" style="border-top: none; border-left: none; width: 84pt;" width="112">2 305<span
style="mso-spacerun: yes;"> </span></td> </tir> <tr style="mso-height-source: userset; height:
30.0pt;"> <td class="xI71" style="height: 30.0pt; border-top: none;" height="40">15</td> <td
class="xI72" style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYGO9LTCB/AOYGO9LTCN</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">1</td> <td class="xI76" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢ 00 ¢ ¢ 060966966 eDecluxe Slide
Nordic<span style="mso-spacerun: yes;"> </span>(90é ¢ 9069-25C, 900000
Q0009 9009)</td> <td class="xI76" style="border-top: none; border-left: none; width:
116pt;" width="154">2.5 / 3.2</td> <td class="xI77" style="border-top: none; border-left: none;
width: 84pt;" width="112">2 405<span style="mso-spacerun: yes;"> </span></td> </ir> <tr
style="mso-height-source: userset; height: 30.0pt;"> <td class="xI71" style="height: 30.0pt;
border-top: none;" height="40">16</td> <td class="xI72" style="border-top: none; border-left:
none; width: 186pt;" width="248">ASYG12LTCB/AOYG12LTCN</td> <td class="xI73"
style="border-top: none; border-left: none; width: 45pt;" width="60">2</td> <td class="xI76"
style="border-top: none; border-left: none; width: 254pt;" width="338">¢ ¢ ¢ 6 ¢
9000090060990 Decluxe Slide Nordic (009 @ 9000-25C, 000000 9006000 06009)</td>
<td class="xI76" style="border-top: none; border-left: none; width: 116pt;" width="154">3.5/
4.0</td> <td class="xI77" style="border-top: none; border-left: none; width: 84pt;"
width="112">2 621<span style="mso-spacerun: yes;"> </span></td> </tr> <tr
style="mso-height-source: userset; height: 30.0pt;"> <td class="xI71" style="height: 30.0pt;
border-top: none;" height="40">17</td> <td class="xI72" style="border-top: none; border-left:
none; width: 186pt;" width="248">ASYG14LTCB/AOYG14LTCN</td> <td class="xI73"
style="border-top: none; border-left: none; width: 45pt;" width="60">1</td> <td class="xI76"
style="border-top: none; border-left: none; width: 254pt;" width="338">0 ¢ ¢ 6 ¢
9900000009090 Decluxe Slide Nordic (009 @ 9090625C, 000000 00000 9060)</td>
<td class="xI76" style="border-top: none; border-left: none; width: 116pt;" width="154">4.2 /
5.4</td> <td class="xI77" style="border-top: none; border-left: none; width: 84pt;"
width="112">3 031<span style="mso-spacerun: yes;"> </span></td> </tr> <tr
style="mso-height-source: userset; height: 30.0pt;"> <td class="xI87" style="height: 30.0pt;
border-top: none;" height="40">18</td> <td class="xI72" style="border-top: none; border-left:
none; width: 186pt;" width="248">ASYAOQ9LEC/AOYRO9LECN</td> <td class="xI73"
style="border-top: none; border-left: none; width: 45pt;" width="60">2</td> <td class="xI76"
style="border-top: none; border-left: none; width: 254pt;" width="338">¢ ¢ ¢ 6 ¢
9000000006 Standart Inverter Nordic (00090 9009 ¢ -25C €009 909)</td> <id
class="xI76" style="border-top: none; border-left: none; width: 116pt;" width="154">2.5/
3.2</td> <td class="xI77" style="border-top: none; border-left: none; width: 84pt;"
width="112">1 865<span style="mso-spacerun: yes;"> </span></td> </tr> <tr
style="mso-height-source: userset; height: 30.0pt;"> <td class="xI71" style="height: 30.0pt;
border-top: none;" height="40">19</td> <td class="xI72" style="border-top: none; border-left:
none; width: 186pt;" width="248">ASYG12LECB/AOYG12LECAN</td> <td class="xI73"
style="border-top: none; border-left: none; width: 45pt;" width="60">2</td> <td class="xI76"
style="border-top: none; border-left: none; width: 254pt;" width="338">0 ¢ ¢ 6 ¢
90000000906 Standart Inverter Nordic (0009 96006 ¢ -25C €000 969)</td> <id

4/6



000 Fujitsu: 000 40% 0 000000000O0OO0OOCOD OO 8,7!

AsTop: Administrator
21.03.2014 16:11 - O6HoBneHo 26.03.2014 13:28

class="xI76" style="border-top: none; border-left: none; width: 116pt;" width="154">3.4 /
4.0</td> <td class="xI77" style="border-top: none; border-left: none; width: 84pt;"
width="112">2 020<span style="mso-spacerun: yes;"> </span></td> </tr> <tr
style="mso-height-source: userset; height: 30.0pt;"> <td class="xI71" style="height: 30.0pt;
border-top: none;" height="40">20</td> <td class="xI72" style="border-top: none; border-left:
none; width: 186pt;" width="248">AWYZ24LBC/AOYZ24LBT</td> <td class="xI73"
style="border-top: none; border-left: none; width: 45pt;" width="60">1</td> <td class="xI73"
style="border-top: none; border-left: none; width: 254pt;" width="338">¢ ¢ ¢ 6 ¢
Q909000000909 Nocria Inverter (0000009 9000909 09)</td> <id class="xI73"
style="border-top: none; border-left: none; width: 116pt;" width="154">7.1 / 8.5</td> <td
class="xI77" style="border-top: none; border-left: none; width: 84pt;" width="112">3 379<span
style="mso-spacerun: yes;"> </span></td> </tir> <tr style="mso-height-source: userset; height:
15.0pt;"> <td class="xI71" style="height: 15.0pt; border-top: none;" height="20">21</td> <td
class="xI72" style="border-top: none; border-left: none; width: 186pt;"
width="248">A0YG30LAT4</td> <td class="xI73" style="border-top: none; border-left: none;
width: 45pt;" width="60">1</td> <td class="xI73" style="border-top: none; border-left: none;
width: 254pt;" width="338">0 000006 ¢09-0009 99 Inverter</td> <td class="xI73"
style="border-top: none; border-left: none; width: 116pt;" width="154">8.0 / 9.6</td> <td
class="xI75" style="border-top: none; border-left: none; width: 84pt;" width="112">4 200<span
style="mso-spacerun: yes;"> </span></td> </tir> <tr style="mso-height-source: userset; height:
15.0pt;"> <td class="xI71" style="height: 15.0pt; border-top: none;" height="20">22</td> <td
class="xI72" style="border-top: none; border-left: none; width: 186pt;"
width="248">A0YG18LAC2</td> <td class="xI73" style="border-top: none; border-left: none;
width: 45pt;" width="60">1</td> <td class="xI73" style="border-top: none; border-left: none;
width: 254pt;" width="338">0 000000 ¢09-0009 969 Inverter</td> <td class="xI73"
style="border-top: none; border-left: none; width: 116pt;" width="154">5.0 / 5.6</td> <td
class="xI75" style="border-top: none; border-left: none; width: 84pt;" width="112">2 751<span
style="mso-spacerun: yes;"> </span></td> </tir> <tr style="mso-height-source: userset; height:
15.0pt;"> <td class="xI71" style="height: 15.0pt; border-top: none;" height="20">23</td> <td
class="xI72" style="border-top: none; border-left: none; width: 186pt;"
width="248">ASYGO9LMCA</td> <td class="xI73" style="border-top: none; border-left: none;
width: 45pt;" width="60">1</td> <td class="xI73" style="border-top: none; border-left: none;
width: 254pt;" width="338">@ @ ®¢® @e<span style="mso-spacerun: yes;"> </span></td> <td
class="xI73" style="border-top: none; border-left: none; width: 116pt;" width="154">2.7 /
3.2</td> <td class="xI75" style="border-top: none; border-left: none; width: 84pt;"
width="112">515<span style="mso-spacerun: yes;"> </span></td> </tr> <tr
style="mso-height-source: userset; height: 15.0pt;"> <td class="xI71" style="height: 15.0pt;
border-top: none;" height="20">24</td> <td class="xI72" style="border-top: none; border-left:
none; width: 186pt;" width="248">UTREV3XL</td> <td class="xI73" style="border-top: none;
border-left: none; width: 45pt;" width="60">4</td> <td class="xI73" style="border-top: none;
border-left: none; width: 254pt;" width="338">¢0¢® ¢0® €& €6 oJ</id> <id class="x|78"
style="border-top: none; border-left: none;"> </td> <td class="xI79" style="border-top: none;
border-left: none; width: 84pt;" width="112">100<span style="mso-spacerun: yes;">
</span></td> </tr> <tr style="mso-height-source: userset; height: 15.0pt;"> <td class="xI71"
style="height: 15.0pt; border-top: none;" height="20">25</td> <td class="xI72"
style="border-top: none; border-left: none; width: 186pt;" width="248">UTB-YRA</td> <td

5/6



000 Fujitsu: 000 40% 0 000000000O0OO0OOCOD OO 8,7!

AsTop: Administrator
21.03.2014 16:11 - O6HoBneHo 26.03.2014 13:28

class="xI73" style="border-top: none; border-left: none; width: 45pt;" width="60">5</td> <td
class="xI73" style="border-top: none; border-left: none; width: 254pt;"
width="338">0 0000 00060o VRF</td> <id class="xI73" style="border-top: none;
border-left: none; width: 116pt;" width="154"> </td> <td class="xI77" style="border-top: none;
border-left: none; width: 84pt;" width="112">180<span style="mso-spacerun: yes;">
</span></td> </tir> </table> <p> </p> <p> </p> <p> </p> <p> </p>
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